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[Fvryazn=] 2008/12 2009/12 2010/12 2011/12 2012/12
(H20.712) (H21.712) (H22.712) (H23.712) (H24,712)

LIoR =Pl (FomEHRE)| GEHFH)
B SRR AT L IR £ 13,085 7,433 12,530 A 75,889 18,413 -
E;‘Wﬁfﬁiﬂ% 6,568 8,504 8,198 9,023 4,450 -
EEEEE%HH A 689 A 137 A 1,553 A 795 A 2,065 -
Eiﬁﬁﬁiﬂﬂﬁﬂ% 85 111 691 137 98 -
Eim_%%éﬁ& 116 1,224 1,039 3,374 725 -
E%L{E*&o)iﬁiﬁ%ﬁ A 4,400 10,632 A 1,512 A 500 A 5,292 -
511)&1??%0)1%;‘)&35 A 297 1,360 A 157 A 178 A 150 -
E%EU%G)E;‘J@E%E 555 6,395 1,588 A 1,149 2,885 -
ET:?‘;EHﬁEO)iE;‘)ﬁ%E A 31,840 26,412 40,767 7117 A 1,133 -
E;‘f)&fﬁ%wim%ﬁitliﬁﬁsﬁ A 14,470 A 7,395 A 372 A 4,369 139 -
f%d)‘rﬂ_l 14,532 11,752 A 1,489 71,283 987 -

MREBI=kBHwva- | A16753) 66293 59730  8o0s3| 19057 20,000
;?ﬁﬁﬁﬁﬁ%ﬁ?mﬁﬁﬂitl;fﬁiﬁ%l:;éuy)\ 5,961 8,609 6,769 9,320 952 -
E#Qﬁﬁmﬁ%ﬁ#o)m%lzs:éiﬂj A 37,954 A 24,589 A 17,714 A 21,837 A 16,572 -
EE%,‘ﬁﬁe/\wﬂjﬁI:;éiﬂj A 3,985 A 14,798 A 2,985 A 130 A 2,348 -
El’ﬁ%ﬁeﬁe/\wﬂj’ﬁwﬂﬁ 6,296 235 1,752 1,573 1,199 -
E@Eﬁﬁwﬁimzs:élw\ 2,231 561 17,796 7,639 11,771 -
E@Eﬁ@wﬂﬁ%lzs:éi:ﬁ A 36,525 A 35578 A 12,587 A 21,113 A 7,316 -
§$§JJ§4§E%E$¥&§§AQ®1§M§ 20,114 10,244 6,529 A 3,398 A 4,330 -
i%d)‘rﬂ_l A 32,899 6,401 A 1,024 A 9,219 A 116 -

REBMI=kBHwvam- | A 76761 A 18915 Ata6a|  A37164]  A16762] A 10,000
;ﬁﬁsﬁi’ékﬁwi%;‘ﬁﬁﬁ 71,400 A 78,000 A 13,792 A 800 A 100 -
Ecpd)i'é;ﬁt&ﬁ 7,300 5,100 A 26,400 - 1,000 -
EE%@%A%@E;‘J@E&E 24,706 10,332 A 29,206 20,560 A 11,500 -
Eﬁiﬁwﬁiéﬂﬁ - 12,000 20,000 25,000 A 9,000 -
EEE%’@@&%&E A 4,759 A 4124 A 3,886 A 1,730 A -
f%d)‘rﬂ_l 1,529 36,204 162 A 1,913 A 912 -

L e 100176] A 18487  A53122] . m116] A 20514 A 20000

[MED®RR] 2008/12 2009/12 2010/12 2011/12 2012/12

(H20.712) (H21.712) (H22.712) (H23.712) (H24,712)

B HHA (Fom+HRA)| GEHFH)

wEE 964,030 969,492 927,925 898,017 903,945 N/A

BEXxe 77,181 92,451 92,451 92,451 92,451 N/A

Y S 2240571 254481) 256.121) 1849371 . 202496 N/A
IHEEARLE 23.2% 26.2% 27.6% 20.6% 22.4% N/A

B EHAA

HHFARK 539,606 510,934 460,835 513,616 493,561 490,000
B % 92| 100%) 100k 99%f ... N/A
D/ELY#H 2.41 2.01 1.80 2.78 244 N/A
RPLE=HM FROBAEHER—R) - HHNFABHEHIR)

D/ELi=FHFARBEHEIR) +BEER
[XEHBERE] 2008/12 2009/12 2010/12 2011/12
(H20.712) (H21,/12) (H22.712) (H23.712)

ROE 4.5% 2.7% 2.5% -32.5%

ROA 3.2% 3.1% 2.6% 0.0%

AVAVAMIN LYY LY (ICR) 3.82f% 351 2844 0.02f%

ROE=% i+ B EA(HEHRTY)
ROA= (E%FIE+RMFIS-FELE) - HEE HEHRTY)
AVLAMINLYY LY (ICR) = (B ¥ F &+ WA R -BY L) - XL FE%
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[HBDRR] 2008712 2009712 2010712 201112 201212
(H20.712) (H21./12) (H22.712) (H23.712) (H24.712)

B BB (HfE) (2QREH) (2QREH) (2QREH) (2QREH)

naEE 875,158| 900,272| 904,726| 887,520 886,782 856,957| 860,592| 807,542| 810,357 —
Bx& 77,181 77,181 77,181 92,451 92,451 92,451 92,451 92,451 92,451 —
BCEX 215,730| 213,894 215,976| 245,650 244,865 252,910| 251,611 182,171] 198,362 —
momams | 247 oasy| 230w o7me|  27ew|  2osw| 20w 2o6e|  2am4  —
Bii:-H5AA

RERTFHEREE 46,523| 97,777 67,579 89,724 22917| 45,291 32,449 50,768) 21,870 —
AT - I EE R E ORI 15,078| 32,182 12,180 34,160 4,783 8,846 1,414 8,015 5,377 —
bl g - 1,942 4,650 3,033 6,583 3,225 6,427 3,001 6,041 2,905 —
AHFEE 499,059| 518,672| 527,360 468,324 474,615 432,636] 439,470| 463,014| 443,175 —
REtbE 88% 79% 82% 93% 99% 99% 98% 100% 99% —
ot | 231 242 24d e vea| am|  17s|  asa| o 223] =
RYPEE=#R1 FBOEAE (WER—R) -FHFAEEGFIR)

D/ELyi=FAFFEBEEHR) -BEEX

[ EmEE] 200812 2009712 201012 2011712

B EAA (H20.712) (H21.712) (H22,712) (H23./12)

TEESWERRE 88,354 146,959 78,953 65,431

En & 162,789 114,776 98,372 103,885

RN B SRR 0.54 1.28 0.80 0.63

[EEMBRE] 200812 2009712 201012 2011712

(H20.712) (H21./12) (H22,712) (H23./12)

ROE 4.4% 3.4% 4.3% -33.0%

ROA 3.1% 3.4% 2.2% —0.3%

AV4LAMIN LYY LY (ICR) 3.66 3.81 248 -0.40

ROE=% i+ B EA(HEHRTY)

ROA=(E%FIf+RIMFI R -FLE) - HEEHEHARTY)

1LAMN LYY LYE (ICR) = (B4R + ZIFIR B L) - IFIRE
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